



**THE BERNOULLI INEQUALITY IN UNIFORMLY COMPLETE f -ALGEBRAS
WITH IDENTITY**

ADEL TOUMI AND MOHAMED ALI TOUMI

Received 16 April, 2007; accepted 21 January, 2008; published 30 June, 2008.

LABORATOIRE DE PHYSIQUE DES LIQUIDES CRITIQUES, DÉPARTEMENT DE PHYSIQUE, FACULTÉ DES
SCIENCES DE BIZERTE, 7021, ZARZOUNA, BIZERTE, TUNISIA

Adel.Toumi@fst.rnu.tn

DÉPARTEMENT DE MATHÉMATIQUES, FACULTÉ DES SCIENCES DE BIZERTE, 7021, ZARZOUNA, BIZERTE,
TUNISIA

MohamedAli.Toumi@fsb.rnu.tn

ABSTRACT. The main purpose of this paper is to establish with a constructive proof the Bernoulli inequality: let A be a uniformly complete f -algebra with e as unit element, let $1 < p < \infty$, then

$$(e + a)^p \geq e + pa$$

for all $a \in A_+$. As an application we prove the Hölder inequality for positive linear functionals on a uniformly complete f -algebra with identity by using the Minkowski inequality.

Key words and phrases: Hölder inequality, Cauchy-Schwartz inequality, f -algebras, Minkowski inequality, Uniformly complete f -algebra with identity.

2000 *Mathematics Subject Classification.* Primary 06F25, 26D15; Secondary 47B65.

1. INTRODUCTION

Let A be a uniformly complete Φ -algebra, that is a uniformly complete f -algebra with an identity element e . The Bernoulli inequality states that :

If $1 < p < \infty$, then

$$(e + f)^p \geq e + pf$$

for all $f \in A_+$. In this paper we prove that the Bernoulli inequality is true in any uniformly complete Φ -algebra.

The Hölder inequality on A states that:

If T is a positive linear functional and if $p, q \geq 1$ such that $\frac{1}{p} + \frac{1}{q} = 1$, then

$$T(|fg|) \leq (T(|f|^p))^{\frac{1}{p}} (T(|g|^q))^{\frac{1}{q}}$$

for all $f, g \in A$. The Minkowski inequality states:

$$T(|f + g|^p)^{\frac{1}{p}} \leq (T(|f|^p))^{\frac{1}{p}} + (T(|g|^p))^{\frac{1}{p}}.$$

for all $f, g \in A$. In [3], K. Boulabiar proved the Hölder inequality for a restricted case (p, q are rational numbers), but the second author established the same inequality for the general setting, by using the arithmetic-geometric inequality (the Young inequality) $ab \leq \frac{1}{p}a^p + \frac{1}{q}b^q = 1$ and by the convexity of natural logarithm.

We take it for granted that the reader is familiar with the notions of vector lattices (or Riesz spaces) and operators between them. For terminology, notations and concepts that are not explained in this paper, we refer to the standard monographs [1, 4, 5].

2. PRELIMINARIES

In order to avoid unnecessary repetitions we will suppose that all vector lattices and ℓ -algebras under consideration are **Archimedean**.

Let A be a vector lattice, let $0 \leq v \in A$, the sequence $\{a_n, n = 1, 2, \dots\}$ in A is called *(v) relatively uniformly convergent* to $a \in A$ if for every real number $\varepsilon > 0$, there exists a natural number n_ε such that $|a_n - a| \leq \varepsilon v$ for all $n \geq n_\varepsilon$. This will be denoted by $a_n \rightarrow a (v)$. If $a_n \rightarrow a (v)$ for some $0 \leq v \in A$, then the sequence $\{a_n, n = 1, 2, \dots\}$ is called *(relatively) uniformly convergent* to a , which is denoted by $a_n \rightarrow a (r.u)$. The notion of *(v) relatively uniformly Cauchy* sequence is defined in the obvious way. A vector lattice is called *relatively uniformly complete* if every relatively uniformly Cauchy sequence in A has a unique limit. Relatively uniformly limits are unique if A is archimedean, see [4, Theorem 63.2].

A linear mapping T defined on a vector lattice A with values in a vector lattice B is called *positive* if $T(A^+) \subset B^+$ (notation $T \in \mathcal{L}^+(A, B)$ or $T \in \mathcal{L}^+(A)$ if $A = B$).

Let us recall some definitions and some basic facts about f -algebras. For more information about this field, we refer the reader to [1, 4, 5]. A (real) algebra A which is simultaneously a vector lattice such that the partial ordering and the multiplication in A are compatible, so $a, b \in A^+$ implies $ab \in A^+$ is called *lattice-ordered algebra* (briefly ℓ -algebra). An ℓ -algebra A is called an *f-algebra* if A verifies the property that $a \wedge b = 0$ and $c \geq 0$ imply $ac \wedge b = ca \wedge b = 0$. Any f -algebra is automatically commutative and has positive squares. An f -algebra with an identity element is called Φ -algebra. Let A be an f -algebra with unit element e , then for every $0 \leq f \in A$, the increasing sequence $0 \leq f_n = f \wedge ne$ converges (relatively) uniformly to f in A (for details, see e.g., [1, Theorem 8.22]).

3. THE MAIN RESULTS

The well-known Bernoulli inequality has many interesting consequences in analysis and integration theory. So it is natural to ask that if this inequality remains true in the vector lattice theory. This answer is affirmative.

Theorem 3.1. (Bernoulli inequality) *Let A be a uniformly complete Φ -algebras with e as identity element. If $1 < p < \infty$, then*

$$(e + f)^p \geq e + pf$$

for all $f \in A_+$.

Proof. We assume that $\frac{1}{p} = \frac{b}{a}$ be a rational such that $1 < p < \infty$ and let $f \in A_+$ such that $(e + pf) \leq me$. Let us define the following sequence

$$(3.1) \quad f_n = \inf_{\substack{\alpha = \frac{k}{n} \\ 1 \leq k \leq n}} \left\{ \alpha^{-\frac{1}{a}} \left(\frac{b}{a} (e + pf) + \alpha \left(\frac{a-b}{a} \right) e \right) \right\}.$$

This sequence will turn out to be the natural approximating Cauchy sequence for $f^{\frac{a}{b}}$. We claim that

$$0 \leq (f_n)^a - (e + pf)^b \leq \frac{C}{n}g$$

for some $0 \leq g \in A$, which means that $(f_n)^a \rightarrow (e + pf)^b$ (*r.u.*), hence $f_n \rightarrow (e + pf)^{\frac{b}{a}}$ (*r.u.*). Indeed,

$$\begin{aligned} (f_n)^a - (e + pf)^b &= \inf_{\substack{\alpha = \frac{k}{n} \\ 1 \leq k \leq n}} \left\{ \alpha^{-1} \left(\left(\frac{b}{a} (e + pf) + \alpha \left(\frac{a-b}{a} \right) e \right)^a - \alpha (e + pf)^b \right) \right\} \\ &= a^{-a} \inf_{\substack{\alpha = \frac{k}{n} \\ 1 \leq k \leq n}} \left\{ \alpha^{-1} \left((b(e + pf) + \alpha(a-b)e)^a - a^a \alpha (e + pf)^b \right) \right\}. \end{aligned}$$

Let $P((e + pf), \alpha e) = (b(e + pf) + \alpha(a-b)e)^a - a^a \alpha e (e + pf)^b$, which is a homogeneous polynomial in $(e + pf)$ and αe . Consider the corresponding inhomogeneous polynomial

$$P(X, 1) = (bX + (a-b))^a - a^a X^b \in \mathbb{R}[X].$$

Since $P(1) = P'(1) = 0$, we have $P(X) = (X-1)^2 G(X)$ for some $G(X) \in \mathbb{R}[X]$. In other words

$$P(e + pf) = ((e + pf) - \alpha e)^2 G((e + pf), \alpha e).$$

Moreover

$$G((e + pf), \alpha e) = \beta_0 (e + pf) f^{a-2} + \beta_1^{a-2} (e + pf) (\alpha e) + \dots + \beta_{a-2} (\alpha e)^{a-2}.$$

($\beta_i \in \mathbb{R}$, $0 \leq i \leq a-2$ and β_i does not depend on α).

Since $P(f(e + pf), \alpha e) = ((e + pf) - \alpha e)^2 G((e + pf), \alpha e)$,

then $|P((e + pf), \alpha e)| = ((e + pf) - \alpha e)^2 |G((e + pf), \alpha e)|$. Moreover,

$$G(f, \alpha e) \leq |\beta_0| (e + pf)^{a-2} + |\beta_1| (e + pf)^{a-2} e + \dots + |\beta_{a-2}| e^{a-2}$$

and

$$-G(f, \alpha e) \leq |\beta_0| (e + pf)^{a-2} + |\beta_1| (e + pf)^{a-2} e + \dots + |\beta_{a-2}| e^{a-2}.$$

Hence

$$|G(f, \alpha e)| \leq g$$

where $g = |\beta_0| (e + pf)^{a-2} + |\beta_1| (e + pf)^{a-2} e + \dots + |\beta_{a-2}| e^{a-2}$.

We recall that by [3, Proposition 4.1]

$$\inf_{\substack{\alpha = \frac{k}{n} \\ 1 \leq k \leq n}} \alpha^{-1} ((e + pf) - \alpha e)^2 \leq n \frac{1}{n^2} e^2 = \frac{1}{n} e.$$

Therefore

$$\left| (f_n)^a - (e + pf)^b \right| = |P((e + pf), \alpha e)| \leq a^{-a} \frac{1}{n} g.$$

Hence the sequence $\{(f_n)^a - f^b\}_{n=1}^\infty$ is a uniformly Cauchy sequence in A , which converges to 0. Thus $(f_n)^a \rightarrow (e + pf)^b (r.u)$, hence $f_n \rightarrow (e + pf)^{\frac{b}{a}} (r.u)$. By formula (3.1), we deduce that

$$f_n \leq \left(\frac{b}{a} (e + pf) + \left(\frac{a-b}{a} \right) e \right).$$

and then, as $n \rightarrow \infty$

$$(3.2) \quad f^{\frac{b}{a}} \leq \left(\frac{b}{a} (e + pf) + \left(\frac{a-b}{a} \right) e \right).$$

Now let $0 \leq f \in A$. Since $f \wedge me \rightarrow f (r.u)$, see [1, Theorem 8.22], it follows that

$$(f \wedge me)^{\frac{b}{a}} \leq \left(\frac{b}{a} ((e + pf) \wedge me) + \left(\frac{a-b}{a} \right) e \right).$$

As $m \rightarrow \infty$, then

$$\begin{aligned} (e + pf)^{\frac{b}{a}} &\leq \frac{b}{a} (e + pf) + \left(\frac{a-b}{a} \right) e \\ &= e + f. \end{aligned}$$

Therefore

$$(e + pf)^{\frac{1}{p}} \leq e + f.$$

That is

$$(3.3) \quad e + pf \leq (e + f)^p.$$

Now let $1 < p < \infty$, then there exists a rational sequence p_n such that $p_n > 1$ and $p_n \rightarrow p$. Then by the inequality (3.3)

$$e + p_n f \leq (e + f)^{p_n}.$$

Since $(e + f)^{p_n} \rightarrow (e + f)^p (r.u)$ and $p_n f \rightarrow pf (r.u)$, then

$$e + pf \leq (e + f)^p$$

which completes the proof. \square

Corollary 3.2. *Let A be a uniformly complete Φ -algebra with e as identity element. If $1 < p < \infty$, then*

$$(f + tg)^p \geq f^p + pt f^{p-1} g$$

for all $f, g \in A_+$, for all $t \in \mathbb{R}_+$.

Proof. We assume that f has an inverse in A . Then we apply the Bernoulli inequality to tgf^{-1} , then

$$(3.4) \quad (f + tg)^p \geq f^p + ptf^{p-1}g.$$

Now let $f \in A_+$, by the Birkhoff's inequality the sequence $(f \vee \frac{e}{n})_{n \in \mathbb{N}}$ is uniformly convergent to g . Moreover $f \vee \frac{e}{n} \geq \frac{e}{n}$, then $f \vee \frac{e}{n}$ has an inverse in A . Hence by inequality (3.4),

$$\left(\left(f \vee \frac{e}{n} \right) + tg \right)^p \geq \left(f \vee \frac{e}{n} \right)^p + pt \left(f \vee \frac{e}{n} \right)^{p-1} g.$$

As $n \rightarrow \infty$, we have

$$(f + tg)^p \geq f^p + ptf^{p-1}g,$$

as required. □

From the Hölder inequality, the Minkowski inequality can be easily proved: If $T(|f + g|^p) = 0$, then the inequality is trivial. We assume that $T(|f + g|^p) > 0$, then

$$\begin{aligned} T(|f + g|^p) &\leq T(|f + g|^{p-1}(|f| + |g|)) \\ &\leq T(|f + g|^{p-1}|f|) + T(|f + g|^{p-1}|g|). \end{aligned}$$

Applying the Hölder inequality to each component, and observing that $(p-1)q = p$, we obtain

$$\begin{aligned} T(|f + g|^p) &\leq (T(|f|^p))^{\frac{1}{p}} T(|f + g|^{(p-1)q})^{\frac{1}{q}} + (T(|g|^p))^{\frac{1}{p}} T(|f + g|^{(p-1)q})^{\frac{1}{q}} \\ &= \left((T(|f|^p))^{\frac{1}{p}} + (T(|g|^p))^{\frac{1}{p}} \right) T(|f + g|^{(p-1)q})^{\frac{1}{q}} \\ &= \left((T(|f|^p))^{\frac{1}{p}} + (T(|g|^p))^{\frac{1}{p}} \right) T(|f + g|^p)^{\frac{1}{q}} \end{aligned}$$

and so

$$T(|f + g|^p)^{\frac{1}{p}} \leq (T(|f|^p))^{\frac{1}{p}} + (T(|g|^p))^{\frac{1}{p}}$$

which gives the desired result.

Next, we deduce Hölder inequality from Minkowski inequality.

Theorem 3.3. (Hölder inequality) *Let A be a uniformly complete Φ -algebra with e as unit element, let p, q be real numbers such that $\frac{1}{p} + \frac{1}{q} = 1$ and let $T : A \rightarrow \mathbb{R}$ be a non trivial positive functional. Then, the Hölder inequality*

$$T(|fg|) \leq (T(|f|^p))^{\frac{1}{p}} (T(|g|^q))^{\frac{1}{q}}$$

holds for all $f, g \in A$.

Proof. Let $f, g \in A$, by the previous corollary,

$$pt|f||g| \leq \left(|g|^{\frac{1}{p-1}} + t|f| \right)^p - |g|^{\frac{p}{p-1}}.$$

Then

$$T(pt|f||g|) \leq T \left(\left(|g|^{\frac{1}{p-1}} + t|f| \right)^p \right) - T \left(|g|^{\frac{p}{p-1}} \right).$$

By the Minkowski inequality

$$ptT(|f||g|) = ptT(|fg|) \leq \left[T \left(\left(|g|^{\frac{1}{p-1}} \right)^p \right)^{\frac{1}{p}} + (T((t|f|)^p))^{\frac{1}{p}} \right]^p - T \left(|g|^{\frac{p}{p-1}} \right).$$

Hence by the definition of the derivative

$$\begin{aligned} pT(|fg|) &\leq \liminf_{t \rightarrow 0^+} \frac{\left(\left[T \left(\left(|g|^{\frac{1}{p-1}} \right)^p \right)^{\frac{1}{p}} + (T((t|f|^p))^{\frac{1}{p}}) \right]^p - T \left(|g|^{\frac{p}{p-1}} \right) \right)}{t} \\ &= pT \left(|g|^{\frac{1}{p-1}} \right)^{\frac{p-1}{p}} (T((|f|^p))^{\frac{1}{p}}) = p(T(|f|^p))^{\frac{1}{p}} (T(|g|^q))^{\frac{1}{q}} \end{aligned}$$

which gives the desired result. □

REFERENCES

- [1] C. D. ALIPRANTIS and O. BURKINSHAW, *Positive Operators*, Academic Press. Orlando, (1985).
- [2] F. BEUKERS, C. B. HUIJSMANS and B. DE PAGTER, Unital embedding and complexification of F -Algebras, *Math. Z*, 183 (1983), pp. 134-144.
- [3] K. BOULABIAR, A Hölder-type inequality for positive functional on Φ -algebras, *J. Inequal. Pure. Appl. Math*, 3, (5), (2002), Art 74.
- [4] W. A. J. LUXEMBURG and A. C. ZAAANEN, *Riesz Spaces I*, North-Holland, Amsterdam, 1971.
- [5] A. C. ZAAANEN, *Riesz Spaces II*, North-Holland, Amsterdam, 1983.